LABJINDu7 trlangle lightness T*
=L*w

nc=

T)\' nc™! ]
T*L aganpu7 =[IN[A 1n+A2YV)I/(A 20A0n)] (Yn/100<Y<=Y,c)
T*N(3,6)=174,T* ,(18)=396,T*(90)=616

log[T*/T*]=0, m,=0,33
L* =49, T*,=396

.
T*=615,73, £y7 1,00, ¢=0,84
T515=395,50, £y O 17, Aoy
THe=173.04 74 3 50Y=18:
1y,=18

)

application
range

=36

LABJINDu7
tristimulus value difference

YacmL*w  nc=100,
T*Lasanpu7 =IN[A 10+A2a)I(A 20A0n)] (Ync/L00<Y<=Y,0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon,pe5=1,5, Aon,a=1,0, see CIE 230:2019
dV5=0,68, Ay=1,500, ¢=0,84
dY;g=0,15, A =0, 017 Agn 0,0048
dY3,6:0x05 Y,=18, dY;=0,15

*
T*,=396 dY,=0,15 dY,/Y,=0,00¢" ¢

YN=3.6  Yy=90

log (AY/Y) LABJNDu?7
tristimulus value sensitivity

SHEYY Yoc=L*w - nc=100,
T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
AY/Y=Agn[A 1+AgYIIY

(dY/Yy=0,0075, Ayl
(dY/Y)=0,0087, A =0
dY/Yy,

log(dY/Y)-2,05 rm——O oo
T*,=396 dY,=0,15 dY,/Y,=0, 0087|

,Ag ,0

0,013 Yuzl& dY=0,15

application
=N Wonge

|YU:18
Yy=90

Yn=3.6

log (Y/AY) LABJINDu7
tristimulus value contrast

C=(VinY) Veap s e 8
T*LaBaNDu7=[IN[(A 1n+A2aY)J/(A 20A0n)] (Ya/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2nY)]

(Y/dYy=131,72, Ay=1,500, 6=0,84
(Y/dY)g=114,61, A=0,017, A,=0,0048
(YIdY} 69,48 218, d=0.15

application
range

v=18
1Yy=90

TEIT

Iog(AY/AY )

LABJINDuU? relative triangle lightness T*/T*,,

YoceL*w - n™

T, :
T aganpu7 =[IN[A 17+A2nV)V/(A20A0n)] (Yd/100<Y<=Y,c)
T#N(3,6)=174.T* ,(18)=396.T*y(90)=616

T*odT*,=1,55, Ar=L,500, 4=0,84

T 0017, Ar0,0048

T* dT* =0, 43 T, _395 ,50 Y=1i

log[T*/T*]=0, m=0,33
L* ;=49,T*,=396 1
1
1
1v,=18

V=90

application
range

N=36

LABJNDuUTY relative
tristimulus value difference
Yocml*w - ne=1
T*Laganpu7 =[IN[A 1n+A2nV)V(A 20A0n)] (Ynd/100<Y<=Y,c)
dY/dY,=AgnA 11+AanYI/dY,
dYog/dY,=4,35, Ay=1,500, ¢
dY,¢/dY,=1,00, A,=0,017,
dY3 4dY,=0,32 Y,~18 dY=

AY/AY,

0,

=0,8
/’z=10
0,1

.
T*,=396 dY,=0,15 dY_/Y,=0, P

log [(AY/Y) I (AYIY)] LABJINDuU? relative
tistimulus value sensitivity

SSu=@YMIBYN)y . =\, - =100,

T*LaBINDu7=[IN[(A 10+A2nY)J(A 2nA0n)] (Y/100<Y<=Yc)

(@YIYYAYY,=(AgitAg Y)Y (AYIYY]
(dY/Yhg/(dY/Y)=0,87, Ay=1,500, ¢=0,

84
(dY/Y)g/(dY/Y,=1,00, A=0,017, A,=0,0
(dY/Y% J(AYV}= 64 Y,218 dY=0.15

048

Iog[(dY/YY(dY/Y)J] 0, m=-0, 5

T+,=396 dY,=0,15 d¥,/Y,=0,0087

1y,=18
=Clp log

application
range

Y236
log [(Y/AY) I (YIAY),] LABJINDu? relative
- tistimulus value contrast
Gl =(YIAV)/(YIAY), o % 2
T*LABINDU7=[IN[(A 10+A2nY)J(A 2nA0n)] (Ynd/100<Y<=Yc)
YIAYYYIAY ), =(YIYIAY )TA on(Agr+ AT (YY),

(Y/dYpo/(YIdY)=1,14, Ay=1,500, ¢=0,84
(Y/dY)g/(Y/dY)=1,00, A =0,017, A,=0,0048
(YIdY} ¢(Y/dY)=0,60 Y,=18 d\=0,15

0,

T*,=396 dY,=0,15 Y, /d. =54

R ' application
1 range
1y,=18

Yy=90




